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Bezier Curve 41 012010 54 &9
M2 0= TF ] XA

= [}2 Cubic Bezier Curve A1 0|20 =0 X! t 210l OHLOl= [MAO] M2 0=
O=_13E 2d0IA 2. (58)

g )

Given 1.b, =(0,0,0), b, =(2,4,0), b, =(5-3,0), b, =(6.1,0)

2. Cubic Bezier Curve Function

rit)=(1-t)°b, +3(1-t)*tb, + 31 -t)t°b, +t°b,

e >
[ Find : t=0.40l oiZot= IMaol & r(0.4) J
[ solution’s H(@4) = (2 688 (11928 () J
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steljau algorithmE 0|20 2 M40
|.'— EE]EH II-A'I

"de d

teljau algorithm £ 0|20 =0 Xl t 240l 0HZ0l= 2 MAIO] ME J0l=
SIS MBI L. (103)

@en 5= @O, = @A), B, =G =20 Dy=(@10)
bs(t) = (1-t)b] +tb;
b;(t) =(@1-t)b. +tb)
bl(t) = (L-t)b) +th]
b2(t) = (L-t)b} +tb!
g [0:(0) = @125 il
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? (0 = @=T)2 -0

(Find: t=0.4 0 HEOH= MM H r(0.4) (=, b% o BE)

\_

" Solution : r(O 4):(2 688, 0.928, 0)

MEUSul 280 ZEul SFF 39 E wlir= =~ A", 20065 H T 2511




\ I 4J§0] M XILb= Cubic Bezier Curve9| Bezier Point&&
0l Z2J3E 20N L. (153)

Gven 1 Po = (_11010)1 P]_ = (01110)1 P2 - (01_110)1 P3 - (11010) \
2. t,=0,t=1/3t,=2/3t,=1

T [BE) B B )]
P, Bady) Balt) Ba(e) Bt
P2 Bg(tz) B13 (tz) I323 (tz) B:? (tz)

k Psl [Bg(t) B(t) By(ts) B3(ts) JLPs. /

[Find : Bezier Points  b,,b,,b,,b, j

Solution : b, —(100) b, —(116745 G 19, = (=1LIET 4@50)
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B-Spline Curve &l 0|20 M A9
Fol= T XA

I

ic B-Spline Curve A2 01201 =X u X0l OHEOl= FMAO| M2
w0l= 2 1¢E AY0IA L. (158)

Given

1. d, =(0,0,0), d, =(0,2,0), d, =(2,2,0), d, =(2,0,0), d, =(4,0,0), d, =(4,2,0)
2.U,=U,=U,=U,=0,Uu,=1, U, =2, U, =U, =U, =U; =4

3. r(u)=d,NJ(u)+d,N;(u)+d,N;Su)+d,NJu)+d,N>(u)+d.NZ(u)

GIIM,

—U. _ d
Nik—l(u) — u ul—l Nik—2 (U)+ u|+k—1 N||j-12 (U) d 2 5
Ui —Uiy Ui — Ui
1 |f U. < u<u. e i ..........................
NiO (U) _ i-1 i d . < i ..........
0 else )y
d d 5
Find : U =1.5 0l 0HZOk= o ¢ L
QI_.IgQI In'l r(15) u, u;=1  y* Uy=2 Us
Solution : w=0 3224
_r(15) = (1.965, 1.240, 0)
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XI| €& XILt= Cubic B-Spline Curve?l Control PointS
= O 2 )& XFM(cubic B-Spline Interpolation)

XILt= Cubic B-Spline CurveE 70t 01Xl u 240l 0HE0l=
70l= ZEE ]38 S A0 RL. (558)

foien b (0010) P = (@L0), Pi=(02.0), P.= (460, t. = 00T, ~(@lo) D

s 2 3 5§ 0 0 0id |

Wl |l @ @ ® © O|c

Py . 9 @ 5 % U 0, > D=AX

P 0 0 a 5 7 O d, )
wl e © 0 0 © il sl
) o @ @ © -9 8)cs

r(U) = doNg (u) + d,N2 (u) + d, N3 () + d, NS (U) +d, N2 (u) + dgNZ (u)
A; = (ui+1_ui); - 1 ¢

= ‘P'l '2‘ 23 A_12A02A1=A5:A6:A7:O
A|+
A

‘P Pl 1‘ (=E 2+ HIM2 Centripetal W 0|2) Az =

SR o
L2ty (1)
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L= Cubic B-Spline Curve®@l Control PointS
Al(Ccubic B-Spline Interpolation)

HI
L1 in
02 o
2

~N
_ (A|+2)2
I (A +A|+1+A|+2)(A|+1+Ai+2)
= i+2 (A +A|+l) |+1(A|+2 +A|+3)
IBi _{(A +A|+1+A|+2) (A|+1+A|+2 +A|+3)}/(Ai+l+Ai+2)
(A|+1) H
}/i (A|+1 + A|+2 . AH—3)(AI+1 s A|+2) (I _1’2)
. J
(Find: d,,u=15 01 OHHOt= FMAl B r(L5) )
Solution : d, =(0,0,0), d, =(0.333,0,0), d, =(1.833,1.258,0),
d, =(~1.8331.712,0), d, = (3.667,5.667,0), d. = (4,6,0)
7.5 = (@470, 1447, @)
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